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	When she entered the room, she looked (                ).

	We can't afford to (                ) our facilities.

	Betty will (                ) me to the conference.

	He has a positive (                ) to his work.

	Amanda (                ) to Montreal every day.

	We need to cut labor costs to stay (                ).

	He (                ) to speak with journalists.

	I (                ) to Business Weekly.

	It will take two weeks to (                ) your visa application.

	He made helpful (                ) on my proposal. 

	Is it (                ) to fill out this form?

	Auckland and Sydney were ranked fifth and tenth, (                ).

	It is (                ) that unemployment will rise further.

	We need more (                ) methods of collecting data.

	First, we must (                ) problem areas.

	Is there any (                ) movie you want to see?

	The company (                ) to Los Angeles.

	My secretary (                ) me about the meeting tomorrow.

	Our sales rose ten percent (                ) (           ) last year.

	The company was (                ) in 1967.


